
  

7 
 

   
Codigo Denominacion Articulo Udes/Caja 

210780 ALARGADERA RED H-M 3/4-1/2 P.E. 200 

210781 ALARGADERA RED. H-M 1"-1/2 P.E. 100 

210782 ALARGADERA RED. H-M 1"-3/4 P.E. 100 

210783 ALARGADERA RED. H-M 11/4-3/4 P.E. 100 

210784 ALARGADERA RED. H-M 11/4-1" P.E. 100 

210786 ALARGADERA RED. H-M 11/2-3/4 P.E. 40 

210787 ALARGADERA RED. H-M 11/2-1"P.E. 40 

210788 ALARGADERA RED. H-M 11/2-11/4 P.E. 40 

210789 ALARGADERA RED. H-M 2"-3/4 P.E. 50 

210790 ALARGADERA RED. H-M 2"-1" P.E. 50 

210791 ALARGADERA RED. H-M 2"-11/4 P.E. 50 

210792 ALARGADERA RED. H-M 2"-11/2 P.E. 50 

210794 ALARGADERA RED. H-M 21/2-2" P.E. 48 

  
Codigo Denominacion Articulo Udes/Caja 

053039 TUERCA RED M-H 3/4-1/2 P.E. 200 

053045 TUERCA RED M-H 1"-1/2 P.E. 200 

053040 TUERCA RED M-H 1"-3/4 P.E. 200 

053046 TUERCA RED M-H 1"1/4-3/4 P.E. 200 

053041 TUERCA RED M-H 1"1/4-1" P.E. 100 

053047 TUERCA RED M-H 1"1/2-3/4 P.E. 100 

053048 TUERCA RED M-H 1"1/2-1" P.E. 100 

053042 TUERCA RED M-H 1"1/2-1"1/4 P.E. 100 

053049 TUERCA RED M-H 2"-1" P.E. 100 

053050 TUERCA RED M-H 2"-1"1/4 P.E. 100 

053043 TUERCA RED M-H 2"-1"1/2 P.E. 100 

053044 TUERCA RED M-H 2"1/2-2" P.E. 50 

110307 TUERCA RED M-H 3"-21/2 P.E. 25 

  
  
Codigo Denominacion Articulo Udes/Caja 

053020 MANGUITO ROSCADO H-H 3/8 P.E. 500 

053021 MANGUITO ROSCADO H-H 1/2 P.E. 200 

053022 MANGUITO ROSCADO H-H 3/4 P.E. 200 

053026 MANGUITO ROSCADO H-H 1" P.E. 100 

053027 MANGUITO ROSCADO H-H 1"1/4 P.E. 100 

053028 MANGUITO ROSCADO H-H 1"1/2 P.E. 100 

053029 MANGUITO ROSCADO H-H 2" P.E. 100 

053030 MANGUITO ROSCADO H-H 2"1/2 P.E. 20 

053031 MANGUITO ROSCADO H-H 3" P.E. 10 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Familia 05307 – Accesorios de polietileno 

 

Familia 05307 – Accesorios de polietileno 

 

Familia 05307 – Accesorios de polietileno 

 




